1. Circle T (true) or F (False].
a) In Rio, each carnival parade lasts 24 hours.

b) At carnival time, the hotels in Rio are much more expensive than usual.

€) The carnival in Rio is longer than the carnival in Notting Hill.
d) Motting Hill Carnival is in winter.

e) The carnival in Notting Hill is less famous than the one in Rio.
f) Notting Hill Carnival is the biggest in the world.
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2. Match the numbers with the correct information.

a) 300,000 ... 1. the number of stages at the Motting Hill Carnival
b} 90,000 2_the number of foreign visitors in the Rio Carnival
c) 600 to BOO . 3. the number of drummers in the Rio Carnival

d) 4 4. the capacity of the stadium in Rio

e) 1964 5. the duration of the Rio Carnival

fia 6. the year the Motting Hill Carnival started



